Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

: 9
System: JGZB;BGB display 0%_GO |« e =(L* =L )/ P w-L* )
CIELAB-Bunttonwinkel:
hap, ¢=[40, 102, 136, 196, 306, 328] |y
hap (40, 102, 136, 196, 306, 328] ~ °

atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
Crapalars +b%a’] V2
YOOL
9%5=Cap,a C0S iy
b*5=C*ap a SIN ey

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: JGZB;BGB display 0,6%_GO |« b =(L¥ = L* )/ Ly -L*
CIELAB-Bunttonwinkel:

hay, (=38, 102, 136, 196, 305, 328] p«
hap =(38, 102, 136, 196, 305, 328] ~ °

N)
argmar —aty ~ Fiaps [@'w —aty]
b*a=b* —b*N = japr [b*w ~b*\ ]
ey e A B )
Crapal @t +b% ]
YOOL
a*5=Cap,a C0S hy
0*5=C*ap,a SiN hap

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: JGZB;BGB display 1,3%_GO |« b =(L¥ = L* )/ Ly -L*
CIELAB-Bunttonwinkel:

hay,¢=36, 103, 136, 196, 305, 328] p«
hapx=[36. 103, 136, 196, 305, 328]

N)
atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]
Craplata +b7 1 Y2
YOOL
a*5=Cap,a C0S
0*3=C*ab,aSin hap

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: JGZB;BGB display 2,5%_GO |« b =(L¥ = L* )/ Ly -L*
CIELAB-Bunttonwinkel:

hap, ¢=[34, 103, 136, 196, 304, 328] |y
hap x=[34, 103, 136, 196, 304, 328]

N)
atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]
o e B P
Crapal @t +b% ]

a*5=Cap,a C0S
b*3=C*ap,aSin hap

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

: 9
System: JGZB;BGB display 5%_GO |« e =(L* =L )/ P w-L* )
CIELAB-Bunttonwinkel:
hap, ¢=[31, 103, 137, 196, 302, 327] pyx
hap =[31, 103, 137, 196, 302, 327] ~ &

atg=ar —ary ~ gy [afw —aty ]
b*a=b* —b*N = japr [b*w ~b*\ ]
o o Pl o OF)
Craplats’ +0%3?] "

a*5=Cap,a C0S
b*3=C*ap,aSin hap

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

: o
System: JGZQ?SBGB display 10%_GO |« e =(L* =L )/ P w-L* )
CIELAB-Bunttonwinkel:
hap, =28, 104, 138, 196, 300, 327] py
hap,=[28, 104, 138, 196, 300, 327]

atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]
e ok 22112
Crapalata +b%,"]

YOoL a*5=Cap,a C0S
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

: o
System: JGZQ?SBGB display 20%_GO |« e =(L* =L )/ P w-L* )
CIELAB-Bunttonwinkel:
hap, =24, 105, 140, 197, 297, 327] pyx
hap x=[24, 105, 140, 197, 297, 327]

atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]
e ok 22112
Crapalata +b%,"]

a*5=Cap,a C0S
b*5=C*ap a SN ey

Buntheit
a*,




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

. 9
System: JGZQ?SBGB display 40%_GO | =(1* — L% )/ Ly -L*y)
CIELAB-Bunttonwinkel:
hap ¢=[21, 107, 142, 197, 293, 326] b*
hap =[21, 107, 142, 197, 293, 326]

atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]
e ok 22112
Crapalata +b%,"]

a*5=Cap,a C0S
b*5=C*ap a SN ey

Buntheit
a*,




